Formula sheet

1 1 1
hvy, =~ E, + =kT hAv = 3kT
Yen = 5 M e 0 93
P
Nige = —1/TT = NEe = Pout _ —Out/hv NEQE = Pout
= = = = 4 =
Q Yo+ Yo, e @ nQEX Q 17,
_ Paut
Nece = =,
Ipn
P/,

[
N = I_[Z , where ¢V = PO X 683 X V(}\) T’EQE = W
hv

P I v
hn =2 X (1=R) X (1 =) Xy xe  R=L" 1= (e —1
w €A . . 4kTB
Larift = V_d Cdep = lrms,ph = 2elyB lrms,th = R,

FF = VmaxImax

VOCISC
10V e S ESEESESSEEsEss
H | ce918 ||
u 1| Photopic vision | |-
—~ 107 -
=< - =
= E  EEEmee ~
=} ] B
k) = =
g | |
— =
= 10721 =
= = o
g r i
- ||
= —
1073 L =
10—4 —
300 400 500 600 700 800

Wavelength A (nm)

683

=
(=

(=]

0.1

) = pn

Luminous efficacy (Im/W)



